A Closer Look at the Theory of Communism

Outcome: demonstrate an understanding of the factors that contributed to the start of the Cold War.

To do: Please read pages 1-4 in your course pack and answer the following questions. Be sure to fully explain your answers, providing key details and examples. You may choose to do further research.
1. Define the following key terms: capitalism, industrial revolution, proletariat, bourgeoisie, and dictatorship of the proletariat. 
2. 2. According to Marx, why did the Industrial Revolution destroy people’s ability to be fulfilled as workers? What did Marx mean when he argued people felt alienated from their work and from themselves? Fully explain with an example. 3. Read the following excerpt, from Marx’s Communist Manifesto. What insight does it provide about Marx’s view of the proletariat and the bourgeoisie? Be sure to make specific reference to the excerpt in your response. 

Owing to the extensive use of machinery, and to the division of labor, the work of the proletarians has lost all individual character, and, consequently, all charm for the workman. He becomes an appendage of the machine, and it is only the most simple, most monotonous, and most easily acquired knack, that is required of him. Modern Industry has converted the little workshop of the patriarchal master into the great factory of the industrial capitalist. Masses of laborers, crowded into the factory, are organized like soldiers. As privates of the industrial army, they are placed under the command of a perfect hierarchy of officers and sergeants. Not only are they slaves of the bourgeois class, and of the bourgeois state; they are daily and hourly enslaved by the machine, by the overlooker, and the individual bourgeois manufacturer himself... What the bourgeoisie therefore produces, above all, are its own grave diggers. Its fall and the victory of the proletariat are equally inevitable. 

4. “Society as a whole is more and more splitting up into two great hostile camps, into two great classes directly facing each other -- bourgeoisie and proletariat.” Why do you think Marx believed the proletariat would eventually overthrow the bourgeoisie in revolution? Explain. 
5. In our society, what distinguishes one social class from another? Do class conflicts exist? Explain with examples.
6. According to Marx, how would the proletariat revolution abolish class distinctions? Why would the state “wither away”? 
7. Once a communist society was achieved, Marx argued that people would be treated in the following way: “From each according to his ability; to each according to his needs.” What did he mean? Provide an example. 
8. Explain the final lines of the Communist Manifesto when Marx stated: “Let the ruling classes tremble at a Communistic revolution. The proletarians have nothing to lose but their chains. They have the world to win.” 
9. Reflecting on Marx’s theory of communism, what do you think would be the benefits and challenges of a communist society? Do you think it is possible to achieve such a society? Explain fully with examples. 
10. If a Communist revolution occurred in Canada, as explained by Marx, how would it impact your life? Explain fully with examples.
